
⑮tanx +secx+ 3secx =1

(sec- 1) +secx + 3 sec x =1
⑮ Cos2x =1+sinx

1-2six =1 +sinx
25+ =

secx

2n+3n -2 =0
1- 222 =1 +x

24+4 =0

2secx + 3sex -2 =0

I u(2n +1) =0
(24 -1)(n +2) =0

u=toxn = -2

u =0or n =1
sec x =
I
or Sec x = -2

sinx =0 or six = I

W

⑮

-y**↳-
2six tanx +tanx-Isix-1=0

tanx (2smx+1) - (25in x +1) =0

Stanx-1) (2smx +1) =0 ⑰ 2105x-3c0sx + 1 =0

tan x =1 or sinx =I Letm=cosX

-① - 12a-1)(n-1) =0

n=0r n=1
cos x =
I
or cosx =1aft

t

Di-
2n

2
- 34 +1 =0
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* Stax + t =2 ⑰ I sinx.tan x =3tanx

Let=taux Isinx.* =3

34 + =2 2 sinx

32+1 =25·U =
322- 255x +1 =0 Letu=cOSX

(55a - 1)
2
=0

214) =3
u= 21

2(1- x2) =34
tanx=1

-2n 2+2 =34

24
2
+3n -2 =0

(2n - 1)(n +2) =0it ⑮n =tor x=-2cosx = 1
or cosy= -2

Seethe
where ne

⑬Secx-tanx =1
-

⑭ 4six - 1 =0
(Ittanx) - tanx =1
Letustan x

Lete=sin x

1+2- 4 =1
42- 1 =0

u-r =0
(2n +1)(2n-1) =0

u(n-1) =0
n=10n=t

n=0orM=1 sinx = -1
or sinx= I

tanx=0 or tan x=1

5+2·Dr. - ItI 5+2"I +25" where it 2



⑮Cos 2x =cosx ⑤
200s -1 =COSX Icosx + sinx =1

2cos-cosx -1 =0 2c0sx +(1-cos) =1
Let M=cOSX Le+1=c0SX

242 - x - 1 =0 2u3+1 - x2=1

(2n +1)(n - 1) zn* - n2=0

n =on=1 e(2n -1) =0

EO or 2n-1 =0

n=0or n =t·joi cosx =0 or cosx =I

⑦.
⑮8SinYx-10sinx +3=0⑮

5

LetM=sin x

8n*-104+3 =0

(4n-3)(24- 1) =0 ⑱ 2sinx +Tsin x +3=0

↓ LetM=sixx

i=3, or a 2n+7x +3 =0

n=E or n == (2a +1)(n+3) =0

u==oru= -3
Sinx =I or sin x =I

3π
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